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ilﬁﬁi Answer any five questlons
All questions carry equa] marks

The focus of a curve is 6 cm from the directrix and the eccentricity is 2:3. Draw
and name the curve.

A c1rcle of 40 mm dia i 1s rol_lmg along a strmght line w1thout slipping. Draw the
curve traced out by a point on the circumference, for one complete revolution.
Name the curve. [7+8]

Two points A and B are in H.P. The point ‘A’ is 20 mm infront of V.P. while ‘B’
is behind. V.P. The distance. between their. progector@ is 70-mm and the line joining
their top vi¢ws make an angle of 45° with xy:'Find the distance of ‘B’ from V.P.
The top view of 70 mm long wire measures 50 mm. The line is in V.P. Its one end
is 20 mm above HP. Draw the projections and find its inclination. [7+8]

A Square ABCD of 40 mm side has a corner ‘A’ m H.P and its diagonal AC
1nc11ned,“;:;tm3‘00 H.P and. dlagonal BD 1nchned at 45° to V P and parallel to:H.P.

Draw theprOJeetlons R ol Te, “[15]

A Cylinder of 40 mm dia 70 mm height is resting on its base in HP. It is cut by a
section plane perpendicular to V.P, inclined at 30° to HP and passes through the
Ieft top corner of the cyhnder Draw the development of the lateral surface of the

A Vertical cylinder of 60 mm dia. Helght 100 mm is completely penetrated by
another cylinder of 40 mm dia, such that their axes bisect each other at right
angles. Draw the projections showing the curves of intersection. [15]

A squategéeﬁfamid of 3 cm51de 4 cm helghtls resting een:&elly on the topef a
square block of 5 cm side and height 4 cm. Draw the isometric projection of the
combination. [15]

A pentagonal lamina of 30 mm sides lies on the ground. The corner nearer to PP
is 15 mm behind picture plane and an edge. contalmng that corner is makmg an
angle of 400 ‘to PP. The station point is 40 ‘mm infront of ‘PP, 50 mm above G.P
and lies in a central plane passing through the midpoint of the lamina. Draw the
perspective projection. [15]
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